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QUESTION 1

You want to use a light-weight communication API for cloud access. What would you use in this situation? 

A. Representational State Transfer (REST) 

B. Simple Object Access Protocol (SOAP) 

C. Internet Engineering Task Force (IETF) 

D. World Wide Web Consortium (W3C) 

Correct Answer: A 

 

QUESTION 2

At which point in the communication chain is multi-pathing initiated? 

A. the switch level 

B. the storage array level 

C. the operating system device driver level 

D. the physical cable interface level 

Correct Answer: B 

 

QUESTION 3

At which level would you apply LUN masking? 

A. switch level 

B. zone alias level 

C. file system level 

D. controller level 

Correct Answer: A 

 

QUESTION 4

You are designing a synchronous remote mirror solution. Which two factors regarding maximum distance must be
considered in this scenario? (Choose two) 

A. the customer\\'s application tolerance for latency 
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B. the customer\\'s RTO requirement 

C. the availability of high-speed communication links 

D. the amount of storage required by the customer\\'s application 

Correct Answer: BD 

 

QUESTION 5

Your customer has a Fibre Channel SAN environment and has properly zoned servers for storage with front end
controller ports. When an administrator goes to initialize a provisioned volume, it is not seen on the server. What would
cause this problem1? 

A. an unplugged cable 

B. a multi-path I/O failure 

C. a corrupted volume 

D. improper LUN masking 

Correct Answer: B 
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